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QUESTION 1

A client wants their consultant to assure them that vRealize operationscan provide monitoring that will easy and
dynamically adapt to their environment. What features in vRealize Operations can provide fewer more specific alerts of
health degradations performance bottlenecks and capacity shortfalls?

A. Auto Reactive Alarms

B. Adaptive Alarms

C. Self-Learning Analytics

D. Dynamic Thresholds

Correct Answer: B

QUESTION 2

A manager wants to know why traditional usage metering tools are less effective in a private cloud environment
thanthey are in physical environments.What statement provides the best response?

A. Traditional monitoring tools won\\'t work in a cloud environment.

B. Traditional metering tools require agents to be installed, which don\\'t work in virtual machines.
C. Resource usage is based on the overall demand of all virtual machines instead of per server.
D. This is not true, traditional usage metering tools are still the best choice.

Correct Answer: B

QUESTION 3

An administrator wants to make sure that a cloud environment is performing as expected and is not exhibiting any
serious problems.Which vRealize operations super Metric will help analyze workload anomalies and faults?

A. Risk

B. Status

C. Performance
D. Health

Correct Answer: C

QUESTION 4

A manager is concerned that creating hundreds of identical virtual machines is needlessly taking up too much storage
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apace.Which vRealize Automation feature will help avoid this issue?
A. Storage DRS

B. Snapshots

C. Templates

D. Linked Clones

Correct Answer: C

QUESTION 5

A consultant is explaining the benefits of using VMware NSX versus other products that utilize a physical networking
infrastructure.Which two are benefits of implementing VMware NSX over other virtual network solutions? (Choose two.)

A. Non-disruptive server hardware upgrades
B. Reduced network provisioning time

C. No more physical switches

D. Non-disruptive deployment

Correct Answer: AD
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